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Simplify Radicals
1.
VBEz
The expression above should be further simplified for which value of x?

O A. 61
O B. 205
C C 2
O D. 82

Wiz

Which value of x makes the expression above equivalent to 28V7 ?

O A, 784
O B. 4

O C. 112
O D. 16

vidlx

The expression above should be further simplified for which value of x?

O A 21
O B. 34
O C. 122
O D. 7

2V89z

Which value of x makes the expression above equivalent to 22v8397?

O A 121
O B. 242
O C 11

O D. 484

Va'Tr

Which value of x makes the expression above equivalent to 22V47?

O A 44

O B. 484
O C. 22

O D. 1,034
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